
KTM 790 DUKE (’18- ) 
REAR SETS  part# KTM-790RS

 L SIDE

sa
to

ra
ci

ng
.c

om

 1. (L) HEEL GUARD  [HG-3L]
 3. (L) STEP PLATE  [KTM-790SP-L]
 5. (L) BASE PLATE (BK)  [KTM-790BP-L]
 7. SHIFT BASE (BK)  [SB-KTM790]
 8. SHIFT PEDAL (BK)  [SPD-CP016]
 9. SHIFT ROD 90 (BK)   [SRD-90B]
14. FOOT PEG  [PEG]
15. FOOT PEG END CAP  [ST-002]
16. PEDAL TIP (DELRIN)  [ST-001D18]
18. PEG COLLAR 15  [PEGCLR-15]
19. COLLAR 5-6 (BK)  [CLR-5-6]  x 3
21. COLLAR 12-10 (BK)  [CLR-12-10]
23. COLLAR (BK)  [BPCLR-KTM790]
24. HEX HEAD M6 x 18mm  [HBT-M618] 
25. HEX HEAD M8 x 40mm  [HBT-M840] 
26. SOCKET HEAD M6 x 40mm  [SBT-M640]  x 2
27. SOCKET HEAD M6 x 45mm  [SBT-M645]
28. SOCKET HEAD M8 x 15mm  [SBT-M815]  x 2
29. SOCKET HEAD M8 x 25mm  [SBT-M825]
30. SOCKET HEAD M10 x 70mm (P-1.5)  [SBT-M1070-15]
32. SOCKET HEAD M12 x 45mm (P-1.75)  [SBT-M1245-175]
36. BUTTON HEAD M6 x 10mm  [BBT-M610]  x 2
41. LOW SOCKET HEAD M6 x 20mm  [LSBT-M620] 
42. STUD M6  [STUD-M6] 
43. REVERSE STUD M6  [STUD-M6L] 
46. JAM NUT M6  [JNT-6] 
47. REVERSE JAM NUT M6  [JNT-6L] 
49. SMALL WASHER M12  [WS-12S] 
50. SPLIT WASHER M8  [SWS-8] 

  STOCK KTM PARTS:
53. PULL ROD  (SHIFT ARM)
54. FEMALE ROD END M6 
55. FEMALE ROD END M6 
56. BOLT
57. NUT
58. NUT

P O S I T I O N S
 1      10mm Back   50mm Up
 2      10mm Back  62.5mm Up
 3      20mm Back   50mm Up
 4      20mm Back  62.5mm Up
 5      30mm Back  62.5mm Up
 6      22.5mm Back   50mm Up
 7      22.5mm Back  62.5mm Up
 8      32.5mm Back   50mm Up
 9      32.5mm Back  62.5mm Up
10     42.5mm Back  62.5mm Up

Note: all measurements are in relation
to the stock foot peg position (0 mm).

1

Adjust position

36

3

28549 32

53

42

23

46

9

47

3021

43

16

41
824

26

29

55
58

18 14 15

5025

56

54

19

7

26
57

19

19

27


